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Question Number : 1 Question Id : 7150536427 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This refers to all changes that occur in human beings from conception to

death.
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Question Number : 2 Question Id : 7150536428 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Piaget believed that all people pass through the four stages of this development

n exactl_v the same order.
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Question Number : 3 Question Id : 7150536429 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

This refers to an individual's underlying potential for acquiring skills
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Question Number : 4 Question Id : 7150536430 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In 1905, Alfred Binet and Theodore Simon. made the successful attempt to
measure
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Question Number : 5 Question Id : 7150536431 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In order to understand the nature of observational learning we may refer to

the studies conducted by
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Question Number : 6 Question Id : 7150536432 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The weakening and fading of memory traces with the passage of time 1s called
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Question Number : 7 Question Id : 7150536433 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

One of the following may be a disadvantage in group discussions
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A few members may play a mere spectator role
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Question Number : 8 Question Id : 7150536434 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In classical eonditioning, the stimulus that automatically produces a response
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Unconditioned stimulus
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Neutral stimulus
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Question Number : 9 Question Id : 7150536435 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A nine year old boy likes both swimming and cricket and planned to go for

coaching during vacation. But, as the coaching timings are same for both, he

was not able to choose between the two, 1.e. swimming and cricket. Identify the

conflict faced by the boy in this situation
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Question Number : 10 Question Id : 7150536436 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

As a teacher 1f you want to assess your student’s behaviour totally, you would

assess the student in which of the following domains
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Cognitive and Social only
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Cognitive, Affective and Conative
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Question Number : 11 Question Id : 7150536437 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To know the general cognitive abilities of his students, a teacher shall use which
of the following tests
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Question Number : 12 Question Id : 7150536438 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A school has provided various activities, such as sports, drama, musie, craft,
debates etc. to the students mandating them to participate in at least two
activities. The students have participated in their preferred activities.

Participation in activities as per their preference indicates the students’
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Children belonging to this category of intellectual disability are incapable of

managing life and need constant care for their entire life
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Question Number : 14 Question Id : 7150536440 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

A teacher in a class studied the ‘impact of reward on performance of students’

on a group of students who were given rewards excluding other group who were

not given reward. Identify the method employed by the teacher
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Options :

Introspection
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Experimental
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Question Number : 15 Question Id : 7150536441 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

From the following. identify the schools that need to teach considering the

mdividual differences
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Government Residential Schools only
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Question Number : 16 Question Id : 7150536442 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the leaderzhip style that gives value to the opinion of students
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Question Number : 17 Question Id : 7150536443 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the body systems of the human being, the system that comparatively
shows rapid growth during the prenatal period and first four years after birth

and proceeds at a relatively slow rate later

Options :

Muscular ayatem

Eo&Tre S

1. % =
Digestive system
B8 S8

2.% % °
Nervous asystem
vl ity

3. v > 8
Reproductive system

DRSS a“’“JE’:E
4, % =

Question Number : 18 Question Id : 7150536444 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Soni eats only vegetarian diet for the whole week because by doing so her father
takes her for outing on Sunday when she can eat non-vegetarian food and
sweets. According to Kohlberg's theory of Moral Development, Soni 1s in this
stage of Moral Development
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Question Number : 19 Question Id : 7150536445 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A father is trying to teach his preschool daughter techniques to do multiplication
and division but she couldn't grasp. This law of learning of Thorndike explains

the mability of the girl to grasp
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Question Number : 20 Question Id : 7150536446 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In insightful learning, the field of perception iz restructured to arrive at
solutions to problems, because learning is
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Options :

Automatic response to stimuli
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Question Number : 21 Question Id : 7150536447 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A teacher has given an activity to her elementary class students to select any
person known to them whom they like the most and talk about why they like
them. All the students described about their favourite persons and justified. In

this activity, the affective aspect s
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Question Number : 22 Question Id : 7150536448 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

One of the following practices of teachers will help in managing behavioural

problems in class

(e

S5HBE BT S ALrodtod’ SFEHIT Grrrene w3bn
Options :

Estab]ishing clear conduct rules with consequences for misbehaviour

- 0 @598 ohired” Earen, HFpP0ss 0N HEdrareh dotin BehEo

Comparing students with other students



Labelling students
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Question Number : 23 Question Id : 7150536449 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The factors that influence memory among the following
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Correct Marks : 1 Wrong Marks : 0

Match the following
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Question Number : 25 Question Id : 7150536451 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which among the following indicate Positive student — teacher relationship
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Question Number : 26 Question Id : 7150536452 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The main focus in subject centered paradigm is
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Mastery of subject matter
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Question Number : 27 Question Id : 7150536453 Question Type : MCQ Option Shuffling : Yes Is
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Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT zatatement based on Bruner's theory
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knowledge
S5 §yaven Jpshes pardy DR, I8,0:50%Jer BETD

1% ° T
We should waait till the child attains readiness to learn
Deerld egfhs HodbEE% frol $5% Hido 3 tord

2. v N
Even young children can learn difficult concepts with appropriate
instructional support

. D) hwen Erre $AN 700 diE” 8508 gradein étﬂ =5 Yeloted)
3, . E E ¥

Instruction should progress from simple concepts to formulating new

propositions
E55 e grdde Dok T H8rEHed Srerobod BIm e



Question Number : 28 Question Id : 7150536454 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Posture and mannerisms indicate this quality of a teacher
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Question Number : 29 Question Id : 7150536455 Question Type : MCQ Option Shuffling : Yes Is
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Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

As per Right to Education Act, 2009, the individuals who can NOT be part of

School Management Committee
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Parents of children admitted in school
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Question Number : 30 Question Id : 7150536456 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
As per NCF, 2005, the INCORRECT procedure of conducting teaching —
learning activity at primary school level
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Sub questions

Question Number : 31 Question Id

: 7150536458 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id

: 7150536459 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 7150536460 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Question Number : 34 Question Id : 7150536461 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 35 Question Id : 7150536462 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 715053323
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 7150536463 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (36 to 40)
Question Label : Comprehension
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Sub questions



Question Number : 36 Question Id : 7150536464 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Question Number : 37 Question Id : 7150536465 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 7150536466 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 7150536467 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 40 Question Id : 7150536468 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 715053324

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 41 Question Id : 7150536469 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 42 Question Id : 7150536470 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 7150536471 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 44 Question Id : 7150536472 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 7150536473 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 7150536474 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 7150536475 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 7150536476 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Options :

1.+ =

Question Number : 49 Question Id : 7150536477 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 7150536478 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 7150536479 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 7150536480 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 7150536481 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 7150536482 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Options :



Question Number : 55 Question Id : 7150536483 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 7150536484 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 7150536486 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 7150536487 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Question Number : 60 Question Id : 7150536488 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Language II English

Section Id : 715053197



Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715053325
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 7150536489 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (61 to 65)

Question Label : Comprehension

Read the following passage and answer the questions from 61-65. Choose the correct

option for each question.

Violence has become a way of life in India. Terrorists kill people without any sense of
remorse. Communalists indulge 1n violence without any reason. some selfish politicians boost
up their image by patronising violence, workers and students resort to violence for getting
their grievances redressed. It 1s correct to say that Indian psyche has lost the non- violence
exemplified by Gandhi or Budha. In its place, we have accepted naked and maimed beggar,

child labour, burning of brides and count-less deaths as a result of war or accident.

The two new types of violenee, 1.¢., terrorism and rioting and they make the age-old
caste based notion of untouchability pale into insignificance. All these have left the Indians
unmoved by human sufferings. Such a blunting of emotions itself manifests i a variety

psychological reactions.



Sub questions

Question Number : 61 Question Id : 7150536490 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
According to the author. new ways of violence 1s of
Options :
two types

1.+

three types

tour types

tive types

Question Number : 62 Question Id : 7150536491 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which of the following issue is NOT mentioned in the passage?
Options :

child labour

burning of brides



child marriages
3.¢

begging

Question Number : 63 Question Id : 7150536492 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

From your reading of the passage, which of the following 1s NOT correct?

Options :

Terrorists kill people without any sense of remorse.

Some selfish politicians never resort to violence for boosting their image.
2. ¢

Communalists mdulge in violence without any reason

Violence has become a way of life in India.

Question Number : 64 Question Id : 7150536493 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Terrorists kill people without any sense of remorse.
Choose the correct synonym for the word “remorse.”
Options :

regret

1. %

achievement

contribution

acceptance
4. %

Question Number : 65 Question Id : 7150536494 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
According to the passage. one of the following is a new type of violence

Options :

rioting

1.4

rigging

human tratficking

domestic violence



Sub-Section Number : 2

Sub-Section Id : 715053326
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 66 Question Id : 7150536495 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Science and technology 1s now considered be the instruments of all comforts
and prosperity.

Choose the correct preposition.

Options:

of

1. #

for

Question Number : 67 Question Id : 7150536496 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The ticket collector the passenger. “Please show me your ticket.”

Choose the correct option.
Options :

1 % toldto

asked to

asked for

asked

Question Number : 68 Question Id : 7150536497 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Osmium 1s of all known metals.

Choose the correct option.
Options :

a heaviest
1. %

the heaviest
2. %

an heaviest



heaviest

Question Number : 69 Question Id : 7150536498 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Rajneesh is a friend of

Identify the appropriate pronoun.
Options :

mine

my

3 % myself

me

Question Number : 70 Question Id : 7150536499 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

They in New York for the past ten years.
Options :

are staving
1% Ving



had being staying
2. %

have been staying
3.¢

has been staying
4, %

Question Number : 71 Question Id : 7150536500 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The CEO of the company has put in his papers.

The expression “put in his papers™ means:
Options:

applied for the post.
1. %

resigned from the post.

assumed the charge of the post.

been transferred to other post.

Question Number : 72 Question Id : 7150536501 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

The president has presided the meeting.

Choose the correct option to complete the following sentence.
Options:

OoVer

from

of

Question Number : 73 Question Id : 7150536502 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word from the given options.
Options :

secratary

secretery

secrefry

secretary



Question Number : 74 Question Id : 7150536503 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The boy seldom went to college last year,

Choose the correct question tag to complete the sentence.

Options:

didn’t he?
1. %

doesn’t he?

did he?
o

4 % does he?

Question Number : 75 Question Id : 7150536504 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If she had worked hard. she in her career.

Choose the suitable option.
Options :

would succead
1. =



would have succeeded
2. %

succeed
3. %

will be succeeding
4. %

Question Number : 76 Question Id : 7150536505 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify the correct verb form to complete the sentence.

A: When will you reach there?

B:1 tomorrow.

Options :

reaching
1. = &

reaches

3 % would reached

will reach
4,

Question Number : 77 Question Id : 7150536506 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct subscription in formal letter writing.
Options :

, Yours lovingly

5> % Yours affectionately

Yours friendly
W

Yours sincerely

Question Number : 78 Question Id : 7150536507 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Who 15 of the college?

Choose the correct answer.
Options :

a principal

an prinecipal

the principal
3.¢



principal

Question Number : 79 Question Id : 7150536508 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

There 1s a tiny hole in the wall.

Choose the opposite word for the word “tiny.”
Options :

giant
1.4

5 % small

minute
3 %

negligible

Question Number : 80 Question Id : 7150536509 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Choose the sentence which is different in meaning.

Options :

| % No other city in India 1s as big as Mumbai.



Mumbati 1s the biggest city in India.
2 %

3 ¢ Mumbati 1s one of the biggest cities in India.

Mumbazi 1s bigger than any other city 1n India.
4. %

Question Number : 81 Question Id : 7150536510 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Government felicitated the athletes for their commendable achievement.

Choose the synonym for the word “commendable.”
Options:

admirable

meagre
2. % -

msignificant
3. % -

4 % worthless

Question Number : 82 Question Id : 7150536511 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Identify the silent consonant letter in the word *honorary’.

Options:

Question Number : 83 Question Id : 7150536512 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the appropriate word to complete the sentence.
A: Whose pen 1s this?

B: This pen 1s

Options :
1 % her

herself
)

hers



she’s
4. %

Question Number : 84 Question Id : 7150536513 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the grammatically correct sentence.
Options :

I bought an electronic gadget whom was working well.
1. %

I bought an electronic gadget which was working well.
2.

I bought an electronic gadget who was working well.
3 %

I bought an electronic gadget whose was working well

Question Number : 85 Question Id : 7150536514 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The interaction on ‘Face sheet’ given at the beginning of the lesson in the Primary

English Textbook of Telangana State Board™ 1s a
Options :

Post-reading activity.
1. %



> Pre-reading activity.

While reading activity.

Home reading activity.

Question Number : 86 Question Id : 7150536515 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

‘Use capital letters, full stop (.). comma (.). question mark (7). wherever necessary

and rewrite the following sentences.’ This question comes under

Options :

- Conventions of Writing.
Creative Writing.

3 Reading comprehension.

Vocabulary.

Question Number : 87 Question Id : 7150536516 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

A comprehensive test that provides feedback to teachers and students on their

strengths and weaknesses 1s
Options :

Diagnostic Tests.
1.9

Proficiency Tests.
2. %

 Achievement Tests.
3. %

Placement Tests.

Question Number : 88 Question Id : 7150536517 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Identify an activity for developing listening skill.
Options :
News on the radio

1.4

Poster

3 % Advertisement board

_ Brochure
4, %



Question Number : 89 Question Id : 7150536518 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following is a continuous evaluation?
Options:

term end evaluation
1. =

formative evaluation
2.

summative evaluation

periodic evaluation

Question Number : 90 Question Id : 7150536519 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following 1s a national digital open educational resources platform.
Options :
NISHTHA

1. %

DIKSHA
2. %



SAKSHAM

4% NMMS

Mathematics
Section Id : 715053198
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053327
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 91 Question Id : 7150536520 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The mean of first ten whole numbers 12:
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Options :



Question Number : 92 Question Id : 7150536521 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The additive inverse of the expression (4m? — 8m + 3) is:

(4m? — 8m + 3) GwE) Hobei DS K

Options :

4m? +8m — 3

2
5 % —4m-—8m — 3
4m? —8m — 3
3. %
—4m? +8m — 3

4.



Question Number : 93 Question Id : 7150536522 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The HCF of 32, 48 and 60 1is:

y " ~ A TR
32, 48 38aim 60 oﬁ;:-éé N.arepe.:

Question Number : 94 Question Id : 7150536523 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

If the radius of outer circle 1s ‘R’ and inner circle 1z 7" then the formula for

area of a circular path ‘A’ 1s:

Options :

A=m(R?—1?
_— ( )



A=m(R—r)(R—r)

2. %
_ P2 132
3.&_1‘1—?1'[15’ +r*)
A=n(R+1)(R+T1)
4,

Question Number : 95 Question Id : 7150536524 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Pythagorean triplet in the following is:

Bob AS* DR B0DS BSo:
Options :

(9.40.43}

Question Number : 96 Question Id : 7150536525 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
v1296 =

Options :

2
 x 2%3

2% x 3°

Question Number : 97 Question Id : 7150536526 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
When decimal 0.125 15 expressed in simplest fractional form E, then the value
of (p+ q) 1s:

o - ! . o B ) i el .-
Bzeo¥ Sogy 0.125 5 Jegrdes %) Srdo — &° $:388008:3), (p + q) G0E) Dend:

L) oh =

o
g

Options:

9
1.v
2. % 12

10



Question Number : 98 Question Id : 7150536527 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The nearest number to 1140, which is divisible by 11 1s:

11 3 D350 2rRodot, 1140 & 55530 Sop::
T =

Options :

1141

1143

1144

1139

Question Number : 99 Question Id : 7150536528 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
3530

Options :



1. %

L. 18
3. % 9
2.9 %7

Question Number : 100 Question Id : 7150536529 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is INCORRECT relating to representation

of data?

tarodo @r&Aees Sonobod BN 2E7)@ BHEusS $05°08 26?
Options :

A pictograph uses pictures or symbols to represent the frequency of the

data.

. ‘/-L ] Ny £
GuiPARE.

Bar graphs are used to represent independent observations with
frequencies.
HEodod R DL TrHe 51508 e Pedidd D 50,0 dEren

EHEPAE.



A pie chart 1= used to present two observations side by side only.
$y8 By Do (p °§) Both HBIoded $8)HE)3 HGSTIS Hr@aD

&DJVJTHO‘JE}::(&- 0.
3. ¢

Histogram is a graphical representation of frequency distribution of exclusive

class intervals.
%Jﬂ“"“r‘ﬂ ) R REE 8518 wodtre, FPH1)H; Ve Adbals Oz DiFo.

Question Number : 101 Question Id : 7150536530 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Sum of greatest 5-digit number and smallest 5-digit number formed by the

digits 6, 3, 0, 2 and 8 is:
6.3, 0, 2 566D 8 woSes® 56N ol E:-Téi S-w08e nogr nddin

[
(]
2 ]
el
i
|
B
-
(031}
I: (=]

Options :
1.09.388

1. %

1,06,688
2. ¢

4 % 88,688



Question Number : 102 Question Id : 7150536531 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The cost of fencing a square park of side 150m at the rate of 725 per meter 1s:

of ¥
150 u:-.J.J-w\_: ;i%ﬁ[_d 2tls] _'“5 & ?:5_."""' qﬁ_uu.aé.: o] Eu 5 25 5.-:' SR 33' :5_(':33

Options :

715000
4. &

Question Number : 103 Question Id : 7150536532 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2 - 7
3 5
Options :
1
15
1.¢



b | e

| o

[
u

P | =

4, #

Question Number : 104 Question Id : 7150536533 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An angle with measure more than a right angle and less than a straight angle
18
oon Bmo Lof 5&&55 20805 $5¢ Sao Lol ‘_-‘.aé?cb et 8RS S0

Options :

Acute angle

Ca)

ey 5730
1. # g

Obtuse angle

26% S0

Reflex angle

2P0 B0



Zero angle

i

*
&
a8
a3,
[y
(M)
f_"l

Question Number : 105 Question Id : 7150536534 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The median of one digit natural numbers is:

) o e
2.8 ©08 Hire Hoye uiyfido:

Options:

N

L
Ln

Question Number : 106 Question Id : 7150536535 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If 3p + 15 = 4p + 10, then the value of p 1=
3p + 15 = 4p + 10 @ond, p Jend

Options :



1.8 7
5
2. %
-5
3. %
_25
7
4. %

Question Number : 107 Question Id : 7150536536 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Swatl takes a loan of ¥6000 at 10% rate of interest. The interest she has to pay

at the end of the year 1s:

A P 5. s Bm P AR ge T D8 )
eed 10% .;uf Otn&” 76000 Heo s:oBHob). JTPH 808" Wb Do &6
Options :

% 3720

7660

Y
L]
L]
=

4 7600



Question Number : 108 Question Id : 7150536537 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
i 3
18 +~=
4

Options :

16
3. %

Question Number : 109 Question Id : 7150536538 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Supplementary angles among the following 1a:

; SR 0 I QT SV J -« TR,
ob arid CoIP OS5 57EFRen:

e

Options :

35,135

1. %

15, 75"



115", 65

95", 65

Question Number : 110 Question Id : 7150536539 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Degree of the term 9x%y?z? ia:

2tdo 9x2y?z? Ging) Hbireo:

Options :
2
1. %
8
2. %
3. % =
4., 0

Question Number : 111 Question Id : 7150536540 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If the angles of a triangle are in the ratio 1:4:5, then the triangle 1s:

Beheo A%, Beren 1:4:5 D8 6oll, & Bhao:

Options :

A right-angled triangle

g Oy b
e0m5 s @dheo
1.¢ -

An acute-angled triangle

An obtuse-angled triangle

. wfE Be @ehao
3.

An equal-angled triangle
) 8

ShY

4. %

£9 (&9 S¢he0

Question Number : 112 Question Id : 7150536541 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
When a Robin bird flies, 1t flaps i1ts wings 23 times in ten seconds. The number

of times 1t flaps 1ts wings in one and half minute is:

3a

]
EJ-’

o 2y Bt oty y £ 4R oL
oR 5B VEHSE® ) @Giob. wond, 8 58508

3

Options :

2070



Question Number : 113 Question Id : 7150536542 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In a triangle. the height 15 double of its base and its area 1z 484sq.cm. The

length of its height (in cm) 1s:

2.8 Beheos® A R 45008 Both Gtw Gob HBAM A e 484:5.20.8. vaws,

5 (B20e (oo ):

Options :

Question Number : 114 Question Id : 7150536543 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
(105)% — (95)* =
Options :

| % 100

1000

2000

Question Number : 115 Question Id : 7150536544 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This 1s the main advantage of the spiral approach:

Options:

Provides deep unique opportunities to gain mastery over the topilc.

fnwo, ofh— =5 "y - . e )
8052 &58% pEE eds oD wobikob
s L L



Allows for easy organization of curriculum materials

3 % TBerlE PEPAD Hedore :EroBothd edH&hod

(G1ves opportunities for revision of content.

’ Py s TR Y
00 R8G5 wdsearaD 58 hob.

4. e B

Question Number : 116 Question Id : 7150536545 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

. 5 1 i W
How can math teachers eliminate students misunderstandings of

mathematical concepts?

f

AEshen N grdded &y odo 3 B AT Ry N8 sarprdines Jer Fofomd?
Q@ L

Options :

By encouraging to rote memorize the definitions and formulae.

-
o

vy
()

B L i
-:\chc‘ﬁ--v;':lé IEM'@ -'_L- D‘:ﬁ"ﬁ:}

)

:Jé;?ﬁ' €D a0 E{jj_fr S”l@:'ﬁxm .‘:n.;'-?_{.r'&,l of&" 83

1. % 2
By clarifving the doubts with proper explanations
$0BBed $35 0mo 25,8 Dabko

2. ¢
By ignoring misconceptions

3 % E‘jci'l‘.lf.: 'E‘J‘E"éﬂm D,r\,"a"_"?.,..llféu

By discouraging questioning

P30l ALErErHtsito



Question Number : 117 Question Id : 7150536546 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which method involves hands-on experience and a learning environment
through discovery?

ol i
o, uth Lol B o A
™ At8d srarandono cotnob?

D T

= /
ol oo EIEE‘FG [aley q_,-.g B0 Hobdin el mﬁ'ﬁﬁfﬂ [

Options:

Deductive Method

s
ANE0R -;-i‘é)ﬁ

Synthetic Method

i
=

:u_._ﬁ i?

3

Slel

'i."'__T

Lecture method

wh o

- - -
A el f
Goled o) ellles

3. % “’

Laboratory Method

2 /55H

.._/ln—h

E-u_,'"'t Hae

Question Number : 118 Question Id : 7150536547 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Mathematics teachers can teach geometrical shapes and symmetry more

appropriately thr{}ugh these man-made structures during a field trip:

&

HeBE sarrpiaies 5 HOwSe & Bob Srdd 8,8 Jueepe troe CeriiBs wsoeen

salev))

?—i

515‘"03}. HHbo# Randdomr S BosNeh:

=

f_.l'x

Options :

Amusement parks

Movie workshops

rJ “-.u- = J{Ti: oD

Beach spots

250

o
S
8]
b
[
£
@'\'\.
\_-'l:\'
1
i
]

Historical Monuments

1?6;_@ = é%t’,’;‘ﬂ)
4. &

Question Number : 119 Question Id : 7150536548 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What was the main purpose of Anderson and Krathwohl hoped for in
preparing the revised Bloom's taxonomy?

55800 o) g, 350580 wgo 0008 wokBS b EESS 980l Hrrd

= Lo~ S g
PJO«JF%QO u:..fmesl?

Options :



Making learning objectives unmeasurable

i o B .- .
9878 oo Fossadr dohEo

Overlooking the learning objectives

G g o g
i oo eanfoiito

2. % :
Improving clarity and applicability on learning objectives
85700 e )58 080 IV, bdNbHdsto
3.¢ ~
Changing the domains of Bloom’s taxonomy.
. T & GInEy a‘ﬁﬁétﬁﬁa Sorrend sardEo.
4, -

Question Number : 120 Question Id : 7150536549 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What should teachers do with the teaching materials before teaching a unit?

-~

, g - s Al - Ot T
SO &80 Swoth sarTreine: FE FHA Jo TETO?
Options :

Dump them in mnsecure place

—m

1. & T8 Hdfdo ) @) srododt Gomrd

Keep them in unorganized form.

o oy ol
Pl S0l &0
i a



Prepare them in advance and keep them in handy

g R eemon A e D e
10 LenS o) WolleRina” Goore

Procuring the teaching materials irrelevant to the unit.

. oy ; :
PN VAT oy B s e e o
GrRds S Dibdo o S0 rsn At HEbBoord,

4, %

Environmental Studies
Section Id : 715053199
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715053328
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 121 Question Id : 7150536550 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



These bacteria decompose plant and animal wastes and turn it into fertilizers

& ’ﬂ%ﬁcf*“ Fn&ye Hbd sode Ko mw &@ shaher 38 dHhHeorm SPSinob
Options:

Bacillus

Entero bacter

DoBEE ¢pEb
B

Azato bacter & Nitro bacter

ewere® o8B & 5 e
3. ¢ - )

Campylo bacter

4. %

Question Number : 122 Question Id : 7150536551 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The function of preparation of food for the plant 1z performed by

= T

o 3 4
oS) od = V6 A e o
o (= } —a

Options:

stem



flower

I

leaf

4&,@%;

Question Number : 123 Question Id : 7150536552 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the INCORRECT instruction in caze of bleeding nose

&5

208y ool SEo PHivw), Holibed s
—a 8

By 2D QothB ob

Options :

Shale the head for 10 minutes

10 2&nare arén deun 568006

1.¢
Don’t use cotton to stop the bleeding
SEErHo @S GrHd & TrPA0EHED
2. %
Press the soft part of the nose for 10 minutes
10 Aaren s, Gns,) D&V HBod
3. % ’



Bend the head forward

M N B M
s aofnE HodSoldl

Question Number : 124 Question Id : 7150536553 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following iz a renewable energy resource?

O e T wf g Al Sl O
Eob mr8E” JRithamtis sotl S 067

Options :

coal

water

> Hile!

petroleum

=, AT

ol i?,j "2)dno

natural gas

o s
o , il
rlodtel ol Cllad

Question Number : 125 Question Id : 7150536554 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Rafflesia 1z the largest flower in the world. Choose the correct answer

showing the measurements of its diameter and weight respectively

U"éﬁd‘ﬂ poPof"d 88 i BYaqj0. TPR AP0 BAI 2da) “““”.- oo SHmmr
oy = g

= A
LS r\,':“% Qe Cm;jcv:\.-ﬂ oS ok

Options :

1.5 metres, 6 kga
o 1 5 Soeath, 6 Bfen
1. i

1.5 metres, 5-8 kgs

1.5 &oehy, 5-8 86°en
2. %

2 metre, 7 — 10 kgs

2 anéathn, 7 - 10 85 e
3. % i

1 metre, 7-10 kgs

1 héab, 7-10 BPen
4.

Question Number : 126 Question Id : 7150536555 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

One of the following 1s NOT a function of worker ants

Bob IS T8 Hhe H5I 28
Options :
protection of eggs

¥ HoB%e
1. %



laying eggs

f"tCﬁ :l.lEéE o

procuring food

&
g B
] {‘JD'-?_?EE’

building and repairing of anthills

—_=
éeh N8 oHto pBA MHdshyE ddbio

Question Number : 127 Question Id : 7150536556 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The layer of atmosphere nearest to the earth’s surface 1=
280 &088Eerd8 SIS sot ararddso §P8

Options :

Thermosphere

é- ‘:_? ;?JJ: oo 5
1. %

Mesozphere

oR88a55

Troposphere

.-Li\"'"?._h .-'_L'_
€0 ET“MJZTDJE'



Exosphere

G‘ Bl

Vhloay

uaaj
f"l'l

o

Question Number : 128 Question Id : 7150536557 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Particles of lead oxide present in auto mobile exhaust can cause

. Sepren ADE o

l'II

£50 SPRITL”

Tt

.-;L -<--3.nf éﬁc"-‘ut m %:Jﬁ EE =

Fouy
[
.'_r

Options :

Anaemia

Wl
HEaPRNE

1.4 =

Bronchitis

Leucopenia

B~ =
e RCIE

Leucamia

ensSandir

Question Number : 129 Question Id : 7150536558 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The power of moving air is used in
- r P
568 o Glng) ¥5 E26° and@rAoSnhidod
Options:

Production of Carbondioxide

"fl'l
[e 1|

& 8058

ol

ll.fl.l

gﬂé

, &

r

Production of electricity

DB G

I."'“"

Preparation of food materials

o] V_I'L_"“t{:'?_, aleviils

Prevention of pollution

sPensy; Jardes

Question Number : 130 Question Id : 7150536559 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the Non-primary colour from the following
8ob PBE° GrEE HPo SRS
Options :
green

85535375

L



blue

[a¥ Rl

red

e
a0

Question Number : 131 Question Id : 7150536560 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Asexual reproduction 1s seen in this plant/tree

& ¥y /3ens” @BoAs HIHEE EIH506
Options :
Guava
2TED
1. %
Marigold

=41

2 ® 20ed

Yeast

dx
g2n



Orange

FrBoes

Question Number : 132 Question Id : 7150536561 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A mustard plant produces these many seeds in its life time

~

- o 15 e
o )i SPe0E” ——— @aren Gid

:_J..L\.

L

" o v Y
2.8 wire 2o 835 2D

)

3,

5t

1L

nod

LC

Options :

10.000
1. %

20,000
2. %

15,000
3. ®

40,000
4. %

Question Number : 133 Question Id : 7150536562 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
On physical maps ‘vellow’ colour is generally uzed to show
pl Lot s o & ot Y

0 oyl . | oad o A st @ o g B .
& &8 Hered oleddad) Ooib & OO i) Benals 28 &5 Tr‘lc-,_(ﬁj

Options :



Plateaus

B -
el sinen

Plains

el
4
4
g

Water bodies

S Hten

2.5

Mountains

4% 2@ en

Question Number : 134 Question Id : 7150536563 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In India, the oldest mountains are
PEE0E0S HTEs 28 @ren

Options :

Aravalli Range

]
Brad B

1.4 a

Satpura Range

— .
E“'E_‘,E..;D’-‘ e



Himalayas

Question Number : 135 Question Id : 7150536564 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Ancient Indian art and architecture reached its zenith during the period of

e T Foowr wl Aoyt - 5 e - AV e Y R 17 7 -
PN grfaad 8¢ 500l arideo )6 SPwod® il 8 JPons BHHoh

(X oo
Options :

Guptas

(Dajen

Mauryas

-

i s

odd QDR
=

Rajputs

]

) L
B30 (Fa0ED

4

Kushans

Lsraen



Question Number : 136 Question Id : 7150536565 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The most important fundamental tenet of Jainism is

# - s A e, AT e & =
B850 o:gégr @08 0PN sPEHE nirodo
a_ = =7 l:;

-
(8

Options :

charity
i hlilde
1, % i
II.'! n_'FlJI
dispassion
Erﬁﬁ;c:-
2.
loyaltsy
- DDchE
non-violence
4 [yt

Question Number : 137 Question Id : 7150536566 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

‘Lothal’ iz known for
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Options :



Vardaman's birth place
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ancient dockyard
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lion capital of Ashoka
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great seat of Buddhist learning centre
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Question Number : 138 Question Id : 7150536567 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The Charminar in Hyderabad was constructed in the year

—_ = & Ea. o i P .
sPEoreEra S TrB R0 18008 Dong o
Options :
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Question Number : 139 Question Id : 7150536568 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
‘Give me blood, I will give you freedom’. This was the slogan given by
‘% G0 85508, 33 HB D% d arH. 5 28 dzedo

Options :

Subhazsh Chandra Boze
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o B a8 hE
e Sollidt R

Mahatma Gandhi

sosiEe) ok

Bhagat Singh

Bl

PRV — ]
2N oon

Lala Lajpat Roy

Question Number : 140 Question Id : 7150536569 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



‘National Panchayati Raj Day’ 1s celebrated by the Ministry of Panchayati
Raj annually on

PHAD Horchdioe S BT 85l HoTrahaTed HoBE: Y P & e athiiod
Options :

24t March
24 £78)

24t June

24 e =
L5 2o

24th Allgllat

24 s

Question Number : 141 Question Id : 7150536570 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘Devadula lift irrigation project’ 12 on this river

Tartheo 05 28NAS 2PEE' & 86D tod
Options :
Godavar:
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Krishna
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Question Number : 142 Question Id : 7150536571 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The main purpose of establishing the wildlife sanctuaries 1s to

sl T 4 ¢ - fm oy Y 4 -&_\.1‘"«'
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develop tourism

Cik

vt b oy o #
DoepéoseR) @ik dabio

1. %
protect the tribals living in the forests
wdos® D503 Abaded Sodtio

2. ®

save the domestic animals from the wild animals

#

PEh B0 Bl sode ok SSobto



protect the endangered species

wodBodEf N, eoil R §Sodoto
4. {‘x - e,

Question Number : 143 Question Id : 7150536572 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The dance form ‘Perini Sivatandavam’ 1z related to

20868 ddeErorio’ ol ¥,8; Srdo 088 Donofodid
Options :
dance of kings

s yEEro
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638

dance of warriors
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dance of priests
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rertie X80

dance of tribals

- DT SOR? v g
Abzasne ar-@yo

Question Number : 144 Question Id : 7150536573 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
Among the following districts of Telangana. the major chillies producing
district 1s

Boorrns’ 8105 BODS 2ers® DB Hobid J& T Sofod Lep

Options :
Vikarabad
. Smeeard
1.
Zaheerabad
- S aile it vl
Mahabubabad
Soerarerereh
3.¢
Nizamabad
4 % Deesirerh

Question Number : 145 Question Id : 7150536574 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Among the following, the best example for the whole class activity is

Sob srBE°, Sndo S518 5 5208 &8 et
Options:

Participation in field trip
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Reading a book
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Expressing opinions
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Preparing a chart of people’s life style
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Question Number : 146 Question Id : 7150536575 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the method which 18 NOT based on the principle “Learning by
doing”

. A Lo 5 ] o w i
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Options:

Problem solving method

o a a s e
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Project method
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Lecture cum demonstration method
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Laboratory method
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Question Number : 147 Question Id : 7150536576 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the non-projected teaching aid among the following

Sob arBE” ROG NG addrRodalil FH5 080, DBotol
Options :

Slide

o
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Black board

P
cIEIEIES
[ ]

Epidiascope
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Filmstrip



Question Number : 148 Question Id : 7150536577 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

To achieve the objectives of Environmental Studies at primary level. National

Curriculum Frame work (NCF) — 2005 suggested the following principles of

teaching

vl

Evlavs ‘To::.é" SbNTre D ‘6 (EV S) GnE) oFed

L

BT £ 5
PHOOE M) 8D Jug

-
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perdz Sgo (NCF) — 2005 & 806 &85 dr@red drdodod.

A) Knowledge of ICT should be utilized in teaching lessons
Ay o588 Sirart el (ICT) droome £68% AN@PA0Td

B) Teacher should generate innovative activities with his creative thinking
and implement them 1n class
EPTPON0 85 S g eS8 Dird) L@ Srirobod 85HES
8560,

C) Subject of environment must be taught in parts instead of holistic way
HB%Tren @3 D530l Sndore (holulc] 5ot dbeprrenr kpart“ o

Choose the correct answer:
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Options:

AB&C

A & Bonly
A & B srgsh

2. ¢
B & C only
B & C S
3. %



A & Conly
A & C srad

Question Number : 149 Question Id : 7150536578 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are true related to a picture and map?
H60, DEed8 Somohod) & Bob rhEned® K350 DO
A)  many things are shown at a time in a picture

DS’ Hen womed 2.3308 SrHKdy

L« B Cakd oJ

B) maps are prepared based on the standards like directions, scale,
longitudes, attitudes, index ete.
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C) reality in the pictures depends on the person who draw them
fjl—g}’-'sé;*ij Paaren sl A 03 et tofron

Choose the correct anawer:
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Options :

A & B only
A & B ir@a

A& C Gnl};

A& CsrEad
2. %



B & C only

B & C &rgah
3.9

AB&C

Question Number : 150 Question Id : 7150536579 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

‘Diorama’ of a village is an example of this experience in Edgar Dale cone of

experience
2.8 [P0 GE) UAPEH' oRSh Jpb GO oS Jopd’d & eRgars
&rarten

Options:

Demonstration
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Field trips
El EEGRen

Direct, purposeful experiences
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Contrived experiences
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